

**FEKETE-SZEGÖ TYPE COEFFICIENT INEQUALITIES FOR
CERTAIN SUBCLASSES OF ANALYTIC FUNCTIONS**

H. E. Darwish, A.Y. Lashin, R.M. El-Ashwah* and E. M. Madar*

Department of Mathematics, Faculty of Science,
Mansoura University Mansoura, 35516, EGYPT

E-mail : darwish333@yahoo.com, aylashin@mans.edu.eg

*Department of Mathematics, Faculty of Science,
Damietta University, New Damietta, 34517, EGYPT

E-mail : r.elashwah@yahoo.com, entesarmadar@gmail.com

(Received: Nov. 21, 2019 Accepted: Feb. 04, 2020 Published: Apr. 30, 2020)

Abstract: In the present investigation, the authors obtain Fekete-Szegö inequality for certain subclasses of analytic functions on the open unit disk. For these classes, the Fekete-Szegö type defined through fractional derivatives is obtained.

Keywords and Phrases: Univalent functions, starlike functions, convex functions, subordination, Fekete-Szegö inequalities.

2010 Mathematics Subject Classification: 30C45.

1. Introduction

Let \mathcal{M} denote the class of all analytic functions which are analytic in the unit disk $\Delta = \{z : z \in \mathbb{C}, |z| < 1\}$ of the form

$$f(z) = z + \sum_{j \geq 2} a_j z^j, \quad (1.1)$$

and \mathcal{S} be the subclass of \mathcal{M} consisting of univalent functions. Let $\Phi(z)$ be an analytic function with positive real part on Δ with $\Phi(0) = 1$, $\Phi'(0) > 0$ and $Re \Phi(z) > 0$ ($z \in \Delta$) which maps the unit disc Δ onto a starlike region with

respect to 1 and is symmetric with respect to the real axis. Let $\mathcal{S}^*(\Phi)$ be the class of functions $f(z) \in \mathcal{S}$ for which

$$\frac{zf'(z)}{f(z)} \prec \Phi(z), \quad (z \in \Delta)$$

and $\mathcal{C}(\Phi)$ be the class of functions $f(z) \in \mathcal{S}$ for which

$$1 + \frac{zf''(z)}{f'(z)} \prec \Phi(z), \quad (z \in \Delta).$$

These classes were introduced and studied by Ma and Minda [6]. For a brief history of the Fekete-Szegő problem for class of analytic functions, see the recent paper by Srivastava et al. [14].

It is well known that the n -th coefficient of a univalent function $f \in \mathcal{S}$ is bounded by n . In 1933, Fekete and Szegő [4] obtained the sharp bound for $|a_3 - \eta a_2^2|$ as a function of the real parameter η and proved that

$$|a_3 - \eta a_2^2| \leq 1 + 2 \exp\left(-\frac{2\eta}{1-\eta}\right) \quad (0 \leq \eta \leq 1),$$

for functions in the class \mathcal{S} . The problem of finding sharp bound for the non-linear functional $|a_3 - \eta a_2^2|$ of any compact family of functions $f \in \mathcal{S}$ is identified as Fekete-Szegő problem. In the recent years many authors have considered the Fekete-Szegő problem for typical classes of univalent functions. For ready reference one can see [2], [3], [7], [8], [9], [10], [12], [13], [14], [19], [20], [5], [15], [16], [17], [18]. Here, we consider the following classes of functions,

$$\begin{aligned} M_{\lambda,\mu}(\Phi) & : = \left\{ f \in \mathcal{M} : (1-\lambda) \left(\frac{f(z)}{z}\right)^\mu + \lambda f'(z) \left(\frac{z}{f(z)}\right)^{\mu-1} \prec \Phi(z) \right\}, \\ N_{\lambda,\mu}(\Phi) & : = \left\{ f \in \mathcal{M} : (1-\lambda) \left(\frac{f(z)}{z}\right)^\mu + \lambda f'(z) \left(\frac{f(z)}{z}\right)^{\mu-1} \prec \Phi(z) \right\}, \\ L_\gamma(\Phi) & : = \left\{ f \in \mathcal{M} : \left[(1+e^{i\gamma}) \left(\frac{zf'(z)}{f(z)}\right) - e^{i\gamma} \right] \prec \Phi(z) \right\}, \end{aligned}$$

where $\mu \geq 0$, $0 \leq \lambda < 1$ and $\gamma \geq 0$.

We note that

- (i) $M_{\lambda,1}\left(\frac{1+(1-2\beta)z}{1-z}\right) = Q_\lambda(\beta)$ (see [11]);
- (ii) $N_{1,0}(\Phi) = \mathcal{S}^*(\Phi)$ (see [6]).

For a function $f(z) \in \mathcal{S}$ given by (1.1), the k -th root transform is defined by:

$$F(z) = [f(z^k)]^{\frac{1}{k}} = z + \sum_{j \geq 1} b_{kj+1} z^{kj+1}. \tag{1.2}$$

Remark 1. Set $k = 1$, in (1.2) $F(z)$ reduce to the function f it self.

In the present paper, we derive the Fekete-Szegö inequality for the classes $M_{\lambda,\mu}(\Phi)$, $N_{\lambda,\mu}(\Phi)$ and $L_{\gamma}(\Phi)$ which we define above. In order to derive our main results, we need the following lemmas.

Lemma 1. [1] If

$$w(z) = w_1 z + w_2 z^2 + \dots \tag{1.3}$$

is an analytic function with positive real part in Δ . Then,

$$|w_2 - t w_1^2| \leq \begin{cases} -t & \text{if } t \leq -1 \\ 1 & \text{if } -1 \leq t \leq 1 \\ t & \text{if } t \geq 1, \end{cases}$$

when $t < -1$ or $t > 1$, the equality holds if and only if $w(z)$ is z or one of its rotations. If $-1 < t < 1$, then the equality holds if and only if $w(z)$ is z^2 or one of its rotations. If $t = -1$, the equality holds if and only if $w(z) = z \frac{\nu+z}{1+\nu z}$ ($0 \leq \nu \leq 1$) or one of its rotations. If $t = 1$, the equality holds if and only if $w(z) = -z \frac{\nu+z}{1+\nu z}$ ($0 \leq \nu \leq 1$) or one of its rotations.

Lemma 2. [4] (see also [10]) If $w(z)$ of the form (1.3) then, for any complex number t ,

$$|w_2 - t w_1^2| \leq \max \{1; |t|\},$$

and the result is sharp for the functions defined by $w(z) = z^2$ or $w(z) = z$.

2. Fekete-Szegö Problem

Theorem 1. Let $f(z)$ be defined by (1.1). Assume that

$$\Phi(z) = 1 + A_1 z + A_2 z^2 + A_3 z^3 + \dots \tag{2.1}$$

If $f \in M_{\lambda,\mu}(\Phi)$, and F is the k -th root transformation of f given by (1.2), then for any complex number γ

$$|b_{2k+1} - \eta b_{k+1}^2| \leq \begin{cases} - \left(\frac{2k(\mu-1)(\mu-4\lambda) + [(k-1)+2\eta][2\lambda(2-\mu)+\mu]}{2k^2[\mu(1-2\lambda)+3\lambda]^2[2\lambda(2-\mu)+\mu]} \right) A_1^2 + \frac{A_2}{[2\lambda(2-\mu)+\mu]} & \text{if } \eta \leq \sigma_1, \\ \frac{A_1}{k[2\lambda(2-\mu)+\mu]} & \text{if } \sigma_1 \leq \eta \leq \sigma_2, \\ \left(\frac{2k(\mu-1)(\mu-4\lambda) + [(k-1)+2\eta][2\lambda(2-\mu)+\mu]}{2k^2[\mu(1-2\lambda)+3\lambda]^2[2\lambda(2-\mu)+\mu]} \right) A_1^2 - \frac{A_2}{[2\lambda(2-\mu)+\mu]} & \text{if } \eta \geq \sigma_2 \end{cases}$$

where

$$\begin{aligned}\sigma_1 & : = \frac{[\mu(1-2\lambda)+3\lambda]^2}{[2\lambda(2-\mu)+\mu]} \left[\frac{k}{A_1} \left(\frac{A_2}{A_1} - 1 \right) + \frac{(\mu-1)(\mu-4\lambda)}{[2\lambda(2-\mu)+\mu]} + \frac{(k-1)}{2k} \right], \\ \sigma_2 & : = \frac{[\mu(1-2\lambda)+3\lambda]^2}{[2\lambda(2-\mu)+\mu]} \left[\frac{k}{A_1} \left(\frac{A_2}{A_1} + 1 \right) + \frac{(\mu-1)(\mu-4\lambda)}{[2\lambda(2-\mu)+\mu]} + \frac{(k-1)}{2k} \right],\end{aligned}$$

and

$$\begin{aligned}|b_{2k+1} - \eta b_{k+1}^2| & \leq \frac{A_1}{k[2\lambda(2-\mu)+\mu]} \max\{1; |v|\}. \\ v & = \frac{2k(\mu-1)(\mu-4\lambda) + [(k-1)+2\eta][2\lambda(2-\mu)+\mu]}{2k[\mu(1-2\lambda)+3\lambda]^2} - \frac{A_2}{A_1}.\end{aligned}$$

Proof. If $f \in M_{\lambda,\mu}(\Phi)$, there exists a function $w(z)$ of the form (1.3) so that

$$(1-\lambda) \left(\frac{f(z)}{z} \right)^\mu + \lambda f'(z) \left(\frac{z}{f(z)} \right)^{\mu-1} = \Phi(w(z)). \quad (2.2)$$

Since

$$\left(\frac{f(z)}{z} \right)^\mu = 1 + \mu a_2 z + \mu \left(a_3 + \frac{(\mu-1)}{2} a_2^2 \right) z^2 + \dots \quad (2.3)$$

$$\left(\frac{z}{f(z)} \right)^{\mu-1} = 1 - (\mu-1) a_2 z + (\mu-1) \left(\frac{\mu}{2} a_2^2 - a_3 \right) z^2 + \dots \quad (2.4)$$

$$\begin{aligned}& (1-\lambda) \left(\frac{f(z)}{z} \right)^\mu + \lambda f'(z) \left(\frac{z}{f(z)} \right)^{\mu-1} \\ & = 1 + [\mu(1-2\lambda)+3\lambda] a_2 z + \left[\frac{(\mu-1)(\mu-4\lambda)}{2} a_2^2 + [2\lambda(2-\mu)+\mu] a_3 \right] z^2 + \dots\end{aligned}$$

and

$$\Phi(w(z)) = 1 + A_1 w_1 z + (A_1 w_2 + A_2 w_1^2) z^2 + \dots$$

From (2.2), we obtain

$$[\mu(1-2\lambda)+3\lambda] a_2 = A_1 w_1 \quad (2.5)$$

and

$$[2\lambda(2-\mu)+\mu] a_3 = \left[A_1 w_2 + \left(A_2 - \frac{(\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda)+3\lambda]^2} A_1^2 \right) w_1^2 \right]. \quad (2.6)$$

For $f \in \mathcal{M}$ defined by (1.1), it is easy to show that

$$[f(z^k)]^{\frac{1}{k}} = z + \frac{1}{k}a_2z^{k+1} + \left(\frac{1}{k}a_3 - \frac{1}{2}\frac{(k-1)}{k^2}a_2^2\right)z^{2k+1} + \dots \quad (2.7)$$

By using (1.2) and (27), we have got

$$b_{k+1} = \frac{1}{k}a_2, \quad (2.8)$$

also

$$b_{2k+1} = \frac{1}{k}a_3 - \frac{1}{2}\frac{(k-1)}{k^2}a_2^2. \quad (2.9)$$

Using (2.5) and (2.6) in (2.8) and (2.9), we obtain

$$b_{k+1} = \frac{A_1w_1}{k[\mu(1-2\lambda) + 3\lambda]}$$

and

$$b_{2k+1} = \frac{1}{k[2\lambda(2-\mu) + \mu]} [A_1w_2 + A_2w_1^2 + (\frac{-2k(\mu-1)(\mu-4\lambda) - (k-1)[2\lambda(2-\mu) + \mu]}{2k[\mu(1-2\lambda) + 3\lambda]^2})A_1^2w_1^2],$$

and hence,

$$b_{2k+1} - \eta b_{k+1}^2 = \frac{A_1}{k[2\lambda(2-\mu) + \mu]} \{w_2 - vw_1^2\},$$

where

$$v = \frac{2k(\mu-1)(\mu-4\lambda) + [(k-1) + 2\eta][2\lambda(2-\mu) + \mu]}{2k[\mu(1-2\lambda) + 3\lambda]^2} - \frac{A_2}{A_1}.$$

The first part is obtained by applying Lemma 1.

If

$$[(\frac{2k(\mu-1)(\mu-4\lambda) + [(k-1) + 2\eta][2\lambda(2-\mu) + \mu]}{2k[\mu(1-2\lambda) + 3\lambda]^2})A_1 - \frac{A_2}{A_1}] \leq -1,$$

then,

$$\eta \leq \frac{1}{2[2\lambda(2-\mu) + \mu]} [2[\mu(1-2\lambda) + 3\lambda]^2 \frac{k}{A_1} (\frac{A_2}{A_1} - 1) - (2\lambda(2-\mu) + \mu)(k-1) - 2k(\mu-1)(\mu-4\lambda)] \quad i.e., \eta \leq \sigma_1,$$

and Lemma 1 gives:

$$|b_{2k+1} - \eta b_{k+1}^2| \leq \left(\frac{2k(\mu-1)(\mu-4\lambda) + [(k-1) + 2\eta][2\lambda(2-\mu) + \mu]}{2k^2[\mu(1-2\lambda) + 3\lambda]^2[2\lambda(2-\mu) + \mu]} \right) A_1^2 - \frac{A_2}{[2\lambda(2-\mu) + \mu]} .$$

For

$$-1 \leq \left[\left(\frac{2k(\mu-1)(\mu-4\lambda) + [(k-1) + 2\eta][2\lambda(2-\mu) + \mu]}{2k[\mu(1-2\lambda) + 3\lambda]^2} \right) A_1 - \frac{A_2}{A_1} \right] \leq 1,$$

we have got,

$$\begin{aligned} & \frac{1}{[2\lambda(2-\mu) + \mu]} [2[\mu(1-2\lambda) + 3\lambda]^2 \frac{k}{A_1} \left(\frac{A_2}{A_1} - 1 \right) \\ & - [2\lambda(2-\mu) + \mu](k-1) - 2k(\mu-1)(\mu-4\lambda)] \\ \leq & \eta \\ \leq & \frac{1}{[2\lambda(2-\mu) + \mu]} [2[\mu(1-2\lambda) + 3\lambda]^2 \frac{k}{A_1} \left(\frac{A_2}{A_1} + 1 \right) \\ & - (2\lambda(2-\mu) + \mu)(k-1) - 2k(\mu-1)(\mu-4\lambda)] \end{aligned}$$

and Lemma 1 yields:

$$|b_{2k+1} - \eta b_{k+1}^2| \leq \frac{A_1}{k[2\lambda(2-\mu) + \mu]} .$$

For

$$\left[\left(\frac{2k(\mu-1)(\mu-4\lambda) + [(k-1) + 2\eta][2\lambda(2-\mu) + \mu]}{2k[\mu(1-2\lambda) + 3\lambda]^2} \right) A_1 - \frac{A_2}{A_1} \right] \geq 1,$$

we have,

$$\begin{aligned} \eta & \geq \frac{1}{[2\lambda(2-\mu) + \mu]} [2[\mu(1-2\lambda) + 3\lambda]^2 \frac{k}{A_1} \left(\frac{A_2}{A_1} + 1 \right) \\ & - (2\lambda(2-\mu) + \mu)(k-1) - 2k(\mu-1)(\mu-4\lambda)] \text{ i.e.,} \\ \eta & \geq \sigma_2. \end{aligned}$$

Applying Lemma 1, we have got

$$|b_{2k+1} - \eta b_{k+1}^2| \leq - \left(\frac{2k(\mu-1)(\mu-4\lambda) + [(k-1) + 2\eta][2\lambda(2-\mu) + \mu]}{2k^2[\mu(1-2\lambda) + 3\lambda]^2[2\lambda(2-\mu) + \mu]} \right) A_1^2$$

$$+ \frac{A_2}{[2\lambda(2 - \mu) + \mu]}.$$

The second part follows by applying Lemma 2

$$\begin{aligned} |b_{2k+1} - \eta b_{k+1}^2| &= \frac{A_1}{k[2\lambda(2 - \mu) + \mu]} |w_2 - \nu w_1^2| \\ &\leq \frac{A_1}{k[2\lambda(2 - \mu) + \mu]} \max\{1; |\nu|\}. \end{aligned}$$

Theorem 2. Let $f(z)$ be given by (1.1). Assume that $\Phi(z)$ is defined by (2.1). If $f \in N_{\lambda, \mu}(\Phi)$, and F is defined by (1.2), then for any complex number η

$$|b_{2k+1} - \eta b_{k+1}^2| \leq \begin{cases} \frac{(2\eta+k\mu-1)}{2k^2(\mu+\lambda)^2} A_1^2 - \frac{A_2}{k(\mu+2\lambda)} & \text{if } \eta \leq \sigma_1, \\ \frac{A_1}{k(\mu+2\lambda)} & \text{if } \sigma_1 \leq \eta \leq \sigma_2, \\ \frac{-(2\eta+k\mu-1)}{2k^2(\mu+\lambda)^2} A_1^2 + \frac{A_2}{k(\mu+2\lambda)} & \text{if } \eta \geq \sigma_2 \end{cases}$$

where

$$\begin{aligned} \sigma_1 &: = \frac{(\mu + \lambda)^2}{(\mu + 2\lambda)} \frac{k}{A_1} \left(\frac{A_2}{A_1} - 1 \right) - \mu k + 1, \\ \sigma_2 &: = \frac{(\mu + \lambda)^2}{(\mu + 2\lambda)} \frac{k}{A_1} \left(\frac{A_2}{A_1} + 1 \right) - \mu k + 1, \end{aligned}$$

and

$$|b_{2k+1} - \eta b_{k+1}^2| \leq \frac{A_1}{k(\mu + 2\lambda)} \max \left\{ 1; \left| \left(\frac{\mu + 2\lambda}{2k(\mu + \lambda)^2} (1 - k\mu - 2\eta) A_1 + \frac{A_2}{A_1} \right) \right| \right\}.$$

Proof. Let $f \in N_{\lambda, \mu}(\Phi)$, there exists a function $w(z)$ given by (1.3) so that

$$(1 - \lambda) \left(\frac{f(z)}{z} \right)^\mu + \lambda f'(z) \left(\frac{f(z)}{z} \right)^{\mu-1} = \phi(w(z)). \quad (2.10)$$

Since

$$\left(\frac{f(z)}{z} \right)^\mu = 1 + \mu a_2 z + \mu \left(a_3 + \frac{(\mu - 1)}{2} a_2^2 \right) z^2 + \dots \quad (2.11)$$

$$\left(\frac{f(z)}{z} \right)^{\mu-1} = 1 + (\mu - 1) a_2 z + (\mu - 1) \left(a_3 + \frac{(\mu - 2)}{2} a_2^2 \right) z^2 + \dots \quad (2.12)$$

$$\begin{aligned}
(1 - \lambda) \left(\frac{f(z)}{z} \right)^\mu + \lambda f'(z) \left(\frac{f(z)}{z} \right)^{\mu-1} & \quad (2.13) \\
= 1 + (\mu + \lambda)a_2z + (\mu + 2\lambda) \left(a_3 + \frac{(\mu - 1)}{2}a_2^2 \right) z^2 + \dots
\end{aligned}$$

and

$$\phi(w(z)) = 1 + A_1w_1z + (A_1w_2 + A_2w_1^2)z^2 + \dots,$$

by using (2.13), we have got

$$a_2 = \frac{A_1w_1}{(\mu + \lambda)} \quad (2.14)$$

and

$$a_3 = \frac{1}{(\mu + 2\lambda)} [A_1w_2 + (A_2 - \frac{(\mu + 2\lambda)(\mu - 1)}{2(\mu + \lambda)^2}A_1^2)w_1^2]. \quad (2.15)$$

Using (2.14) and (2.15) in (2.8) and (2.9), it follows:

$$b_{k+1} = \frac{A_1w_1}{k(\mu + \lambda)},$$

and

$$b_{2k+1} = \frac{1}{k(\mu + 2\lambda)} [A_1w_2 + A_2w_1^2 - \frac{(\mu + 2\lambda)}{2(\mu + \lambda)^2}((\mu - 1) + \frac{(k - 1)}{k})A_1^2w_1^2],$$

and hence

$$b_{2k+1} - \eta b_{k+1}^2 = \frac{A_1}{k(\mu + 2\lambda)} \left\{ w_2 - \left(\frac{(\mu + 2\lambda)}{2k(\mu + \lambda)^2} (k\mu + 2\eta - 1)A_1 - \frac{A_2}{A_1} \right) w_1^2 \right\}. \quad (2.16)$$

Applying Lemma 2 yields:

$$\begin{aligned}
|b_{2k+1} - \eta b_{k+1}^2| &= \frac{A_1}{k(\mu + 2\lambda)} \left| w_2 - \left(\frac{(\mu + 2\lambda)}{2k(\mu + \lambda)^2} (1 - k\mu - 2\eta)A_1 - \frac{A_2}{A_1} \right) w_1^2 \right| \\
&\leq \frac{A_1}{k(\mu + 2\lambda)} \max \left\{ 1; \left| \left(\frac{(\mu + 2\lambda)}{2k(\mu + \lambda)^2} (1 - k\mu - 2\eta)A_1 - \frac{A_2}{A_1} \right) \right| \right\}.
\end{aligned}$$

Theorem 3. Let $f(z)$ be given by (1.1). Assume that $\phi(z)$ is defined by (2.1). If $f \in L_\gamma(\Phi)$, and F is defined by (1.2), then for any complex number η

$$|b_{2k+1} - \eta b_{k+1}^2| \leq \frac{A_1}{2k|1 + e^{i\gamma}|} \max \left\{ 1; \left| \frac{A_1}{k(1 + e^{i\gamma})} (1 - 2\eta) - \frac{A_2}{A_1} \right| \right\}.$$

Proof. If f belongs to $L_\gamma(\Phi)$, there exists a function $w(z)$ of the form (1.3) so that

$$(1 + e^{i\gamma}) \left(\frac{zf'(z)}{f(z)} \right) - e^{i\gamma} = \Phi(w(z)).$$

Since

$$(1 + e^{i\gamma}) \left(\frac{zf'(z)}{f(z)} \right) - e^{i\gamma} = 1 + (1 + e^{i\gamma})a_2z + (1 + e^{i\gamma})(2a_3 - a_2^2)z^2 + \dots, \quad (2.17)$$

and

$$\Phi(w(z)) = 1 + A_1w_1z + (A_1w_2 + A_2w_1^2)z^2 + \dots$$

It follows from (2.17) that

$$a_2 = \frac{A_1w_1}{(1 + e^{i\gamma})}, \quad (2.18)$$

and

$$a_3 = \frac{1}{2(1 + e^{i\gamma})} \left[A_1w_2 + A_2w_1^2 + \frac{A_1^2w_1^2}{(1 + e^{i\gamma})} \right]. \quad (2.19)$$

Using (2.18) and (2.19) in (2.8) and (2.9), we get

$$b_{k+1} = \frac{A_1w_1}{k(1 + e^{i\gamma})},$$

and

$$b_{2k+1} = \frac{1}{2k(1 + e^{i\gamma})} \left[A_1w_2 + A_2w_1^2 + \frac{A_1^2w_1^2}{k(1 + e^{i\gamma})} \right],$$

and hence,

$$b_{2k+1} - \eta b_{k+1}^2 = \frac{A_1}{2k(1 + e^{i\gamma})} \left\{ w_2 - \left[\frac{A_1}{k(1 + e^{i\gamma})}(2\eta - 1) - \frac{A_2}{A_1} \right] w_1^2 \right\},$$

applying Lemma 2 yields:

$$|b_{2k+1} - \eta b_{k+1}^2| \leq \frac{A_1}{2k|1 + e^{i\gamma}|} \max \left\{ 1; \left| \frac{A_1}{k(1 + e^{i\gamma})}(1 - 2\eta) - \frac{A_2}{A_1} \right| \right\}.$$

3. Fekete-Szegö problem for z/f

In this section, the Fekete-Szegö type coefficient inequalities associated with the rational function Ψ of the form

$$\Psi(z) = z/f(z) = 1 + \sum_{j \geq 1} d_j z^j, \quad (3.1)$$

where f belongs to the classes $M_{\lambda,\mu}(\Phi)$, $N_{\lambda,\mu}(\Phi)$ and $L_\gamma(\Phi)$ are derived.

Theorem 4. Let $f(z)$ be given by (1.1). Assume that $\Phi(z)$ is defined by (2.1). If $f \in M_{\lambda,\mu}(\Phi)$, and Ψ is defined by (3.1), then for any complex number η

$$|d_2 - \eta d_1^2| \leq \begin{cases} \left(\frac{[2\lambda(2-\mu)+\mu](1-\eta)+(\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda)+3\lambda]^2[2\lambda(2-\mu)+\mu]} \right) A_1^2 - \frac{A_2}{[2\lambda(2-\mu)+\mu]} & \text{if } \eta \leq \sigma_1, \\ -\frac{A_1}{[2\lambda(2-\mu)+\mu]}, & \text{if } \sigma_1 \leq \eta \leq \sigma_2, \\ -\left(\frac{[2\lambda(2-\mu)+\mu](1-\eta)+(\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda)+3\lambda]^2[2\lambda(2-\mu)+\mu]} \right) A_1^2 + \frac{A_2}{[2\lambda(2-\mu)+\mu]}, & \text{if } \eta \geq \sigma_2 \end{cases}$$

where

$$\sigma_1 : = \frac{[\mu(1-2\lambda)+3\lambda]^2}{A_1} \left(\frac{A_2}{A_1} - 1 \right) - [2\lambda(2-\mu)+\mu] - (\mu-1)(\mu-4\lambda),$$

$$\sigma_2 : = \frac{[\mu(1-2\lambda)+3\lambda]^2}{A_1} \left(\frac{A_2}{A_1} + 1 \right) - [2\lambda(2-\mu)+\mu] - (\mu-1)(\mu-4\lambda),$$

and

$$|d_2 - \eta d_1^2| \leq \frac{A_1}{[2\lambda(2-\mu)+\mu]} \max \left\{ 1; \left| \left(\frac{[2\lambda(2-\mu)+\mu](1-\eta)+(\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda)+3\lambda]^2} \right) A_1 - \frac{A_2}{A_1} \right| \right\}.$$

Proof. It is easy to see that

$$z/f(z) = 1 - a_2z + (a_2^2 - a_3)z^2 + \dots \quad (3.2)$$

By using (3.1), (3.2), we have got

$$d_1 = -a_2 \quad (3.3)$$

and

$$d_2 = a_2^2 - a_3. \quad (3.4)$$

Using (2.5) and (2.6) in (3.3) and (3.4), we obtain

$$d_1 = \frac{-A_1 w_1}{[\mu(1-2\lambda)+3\lambda]},$$

and

$$d_2 = \frac{A_1^2 w_1^2}{[\mu(1-2\lambda) + 3\lambda]^2} - \frac{1}{[2\lambda(2-\mu) + \mu]} \left[A_1 w_2 + \left(A_2 - \frac{(\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda) + 3\lambda]^2} A_1^2 \right) w_1^2 \right],$$

and hence,

$$d_2 - \eta d_1^2 = -\frac{A_1}{[2\lambda(2-\mu) + \mu]} \left\{ w_2 - \left[\left(\frac{[2\lambda(2-\mu) + \mu](1-\eta) + (\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda) + 3\lambda]^2} \right) A_1 - \frac{A_2}{A_1} \right] w_1^2 \right\}.$$

By applying Lemma 1, we have got the first part of the result and by Lemma 2, we get the second result:

$$|d_2 - \eta d_1^2| = \frac{A_1}{[2\lambda(2-\mu) + \mu]} |w_2 - \left[\left(\frac{[2\lambda(2-\mu) + \mu](1-\eta) + (\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda) + 3\lambda]^2} \right) A_1 - \frac{A_2}{A_1} \right] w_1^2|,$$

$$|d_2 - \eta d_1^2| \leq \frac{A_1}{[2\lambda(2-\mu) + \mu]} \max \left\{ 1; \left| \left(\frac{[2\lambda(2-\mu) + \mu](1-\eta) + (\mu-1)(\mu-4\lambda)}{[\mu(1-2\lambda) + 3\lambda]^2} \right) A_1 - \frac{A_2}{A_1} \right| \right\}.$$

Theorem 5. Let $f(z)$ be given by (1.1). Assume that $\phi(z)$ is defined by (2.1). If $f \in L_\gamma(\Phi)$, and Ψ is defined by (3.1), then for any complex number η

$$|d_2 - \eta d_1^2| \leq \frac{A_1}{2|1+e^{i\gamma}|} \max \left\{ 1; \left| \frac{A_1}{(1+e^{i\gamma})} (1-2\eta) - \frac{A_2}{A_1} \right| \right\}.$$

Proof. Using (2.18) and (2.19) in (3.3) and (3.4), we have

$$d_1 = \frac{-A_1 w_1}{(1+e^{i\gamma})}$$

and

$$d_2 = \frac{A_1^2 w_1^2}{(1+e^{i\gamma})^2} - \frac{1}{2(1+e^{i\gamma})} \left[A_1 w_2 + \left(A_2 + \frac{A_1^2}{(1+e^{i\gamma})} \right) w_1^2 \right],$$

and hence,

$$d_2 - \mu d_1^2 = -\frac{A_1}{2(1+e^{i\gamma})} \left\{ w_2 - \left[\frac{A_1}{(1+e^{i\gamma})}(1-2\eta) - \frac{A_2}{A_1} \right] w_1^2 \right\}.$$

Lemma 2 gives:

$$\begin{aligned} |d_2 - \mu d_1^2| &= \frac{A_1}{2|1+e^{i\gamma}|} \left| w_2 - \left[\frac{A_1}{(1+e^{i\gamma})}(1-2\eta) - \frac{A_2}{A_1} \right] w_1^2 \right|, \\ |d_2 - \mu d_1^2| &\leq \frac{A_1}{2|1+e^{i\gamma}|} \max \left\{ 1; \left| \frac{A_1}{(1+e^{i\gamma})}(1-2\eta) - \frac{A_2}{A_1} \right| \right\}. \end{aligned}$$

For functions with non-negative derivative.

Theorem 6. Let $f(z)$ be given by (1.1). Assume that $\Phi(z)$ is defined by (2.1). If $f \in N_{\lambda, \mu}(\Phi)$ and Ψ is defined by (3.1), then for any complex number η

$$|d_2 - \eta d_1^2| \leq \begin{cases} \frac{A_1^2}{(\mu+\lambda)^2} \left((1-\eta) + \frac{\mu(\mu-1)(\lambda+1)}{2(\mu+\lambda)} \right) - \frac{A_2}{(\mu+\lambda)}, & \text{if } \eta \leq \sigma_1, \\ \frac{-A_1}{(\mu+\lambda)}, & \text{if } \sigma_1 \leq \eta \leq \sigma_2, \\ -\frac{A_1^2}{(\mu+\lambda)^2} \left((1-\eta) + \frac{\mu(\mu-1)(\lambda+1)}{2(\mu+\lambda)} \right) + \frac{A_2}{(\mu+\lambda)}, & \text{if } \eta \geq \sigma_2 \end{cases},$$

where

$$\begin{aligned} \sigma_1 &:= 1 + \frac{\mu(\mu-1)(\lambda+1)}{2(\mu+\lambda)} + \frac{(\mu+\lambda)}{A_1} + \frac{(\mu+\lambda)A_2}{A_1^2}, \\ \sigma_2 &:= 1 + \frac{\mu(\mu-1)(\lambda+1)}{2(\mu+\lambda)} - \frac{(\mu+\lambda)}{A_1} + \frac{(\mu+\lambda)A_2}{A_1^2}, \end{aligned}$$

and

$$|d_2 - \mu d_1^2| \leq \frac{A_1}{(\mu+\lambda)} \max \left\{ 1; \left| \frac{A_1}{(\mu+\lambda)} \left((1-\eta) + \frac{\mu(\mu-1)(\lambda+1)}{2(\mu+\lambda)} \right) - \frac{A_2}{A_1} \right| \right\}.$$

Proof. By using (2.14) and (2.15) in (3.3) and (3.4), we have got

$$d_1 = \frac{-A_1 w_1}{(\mu+\lambda)}, \text{ and } d_2 = \frac{A_1^2 w_1^2}{(\mu+\lambda)^2} - \frac{1}{(\mu+2\lambda)} \left[A_1 w_2 + \left(A_2 - \frac{(\mu+2\lambda)(\mu-1)}{2(\mu+\lambda)^2} A_1^2 \right) w_1^2 \right],$$

and hence,

$$d_2 - \eta d_1^2 = -\frac{A_1}{(\mu+2\lambda)} \left\{ w_2 - \left[\frac{A_1}{(\mu+2\lambda)} \left((1-\eta) - \frac{(\mu+2\lambda)(\mu-1)}{2(\mu+\lambda)} \right) - \frac{A_2}{A_1} \right] w_1^2 \right\}.$$

By applying Lemma 1, we have got the first part of the result and by Lemma 2, we get the second result:

$$\begin{aligned} |d_2 - \eta d_1^2| &= \frac{A_1}{(\mu+2\lambda)} \left| w_2 - \left[\frac{A_1}{(\mu+2\lambda)} \left((1-\eta) - \frac{(\mu+2\lambda)(\mu-1)}{2(\mu+\lambda)} \right) - \frac{A_2}{A_1} \right] w_1^2 \right| \\ &\leq \frac{A_1}{(\mu+\lambda)} \max \left\{ 1; \left| \frac{A_1}{(\mu+\lambda)} \left((1-\eta) - \frac{(\mu+2\lambda)(\mu-1)}{2(\mu+\lambda)} \right) - \frac{A_2}{A_1} \right| \right\}. \end{aligned}$$

References

- [1] R. M. Ali, V. Ravichandran and N. Seenivasagan, Coefficient bounds for p -valent functions, *Appl. Math. Comput.*, 187 (1)(2007), 35–46.
- [2] R. M. Ali, S. K. Lee, V. Ravichandran and S. Supramaniam, The Fekete-Szegö coefficient functional for transforms of analytic functions, *Bull. Iranian Math. Soc.*, 35(2) (2009), 119-142.
- [3] M. Darus, The Fekete-Szegö theorem for close-to-convex functions of the class $K_{sh}(\alpha, \beta)$, *Acta Math. Acad. Paedagog. Nyhazi. (N.S.)*, 18(1)(2002), 13-18.
- [4] M. Fekete and G. Szegö, Eine Bemerkung über ungerade schlichte funktionen, *J. London Math. Soc.*, 8 (1933), 85-89.
- [5] B. Kowalczyk, A. Lecko, and H. M. Srivastava, A note on the Fekete-Szegö problem for close-to-convex functions with respect to convex functions, *Publ. Inst. Math. (Beograd) (Nouvelle Sér.)* 101 (115) (2017), 143-149.
- [6] W. C. Ma and D. Minda, A unified treatment of some special classes of univalent functions, in *Proceedings of the Conference on Complex Analysis (Tianjin, 1992)*, 157–169, *Conf. Proc. Lecture Notes Anal.*, I Int. Press, Cambridge, MA.
- [7] D. Răducanu, On a subclass of analytic functions defined by a differential operator, *Bull. Transilv. Univ. Brasov Ser.*, III 2(51)(2009), 223-229.
- [8] V. Ravichandran, A. Gangadharan and M. Darus, Fekete-Szegö inequality for certain class of Bazilevic functions, *Far East J. Math. Sci. (FJMS)* 15(2)(2004), 171-180.
- [9] V. Ravichandran, M. Darus, M. Hussain Khan and K. G. Subramanian, Fekete-Szegö inequality for certain class of analytic functions, *Aust. J. Math. Anal. Appl.*, 1(2)(2004) Art. 4, 7 pages (electronic).

- [10] V. Ravichandran, Y. Polatoglu, M. Bolcal and A. Sen, Certain subclasses of starlike and convex functions of complex order, *Hacet. J. Math. Stat.*, 34 (2005), 9-15.
- [11] D. Shusen, L. Yi and B. Gejun, Some properties of a class of analytic functions, *Journal of mathematical analysis and applications* 195, 71-81 (1995).
- [12] S. Sivaprasad Kumar and V. Kumar, Fekete-Szegö problem for a class of analytic functions, *Stud. Univ. Babeş-Bolyai Math.*, 58(2) (2013), 181-188.
- [13] S. Sivaprasad Kumar and V. Kumar, Fekete-Szegö problem for a class of analytic functions defined by convolution, *Tamkang J. Math.*, 44(2) (2013), 187-195.
- [14] H. M. Srivastava, A. K. Mishra and M. K. Das, The Fekete-Szegö problem for a subclass of close-to-convex functions, *Complex variables, Theory Appl.*, 44 (2001), 145-163.
- [15] H. M. Srivastava, S. Hussain, A. Raziq, and M. Raza, The Fekete-Szegö functional for a subclass of analytic functions associated with quasi-subordination, *Carpathian J. Math.* 34 (2018), 103-113.
- [16] H. M. Srivastava, A. O. Mostafa, M. K. Aouf, and H. M. Zayed, Basic and fractional q -calculus and associated Fekete-Szegö problem for p -valently q -starlike functions and p -valently q -convex functions of complex order, *Miskolc Math. Notes* 20 (2019), 489-509.
- [17] H. Tang, H. M. Srivastava, S. Sivasubramanian, and P. Gurusamy, The Fekete-Szegö functional problems for some classes of m -fold symmetric bi-univalent functions, *J. Math. Inequal.* 10 (2016), 1063-1092.
- [18] H. M. Srivastava, N. Raza, E. S. A. AbuJarad, G. Srivastava, and M. H. AbuJarad, Fekete-Szegö inequality for classes of (p, q) -starlike and (p, q) -convex functions, *Rev. Real Acad. Cienc. Exactas Fs. Natur. Ser. A Mat. (RACSAM)* 113 (2019), 3563-3584.
- [19] Y. Sun, W.-P. Kuang and Z.-G. Wang, Coefficient inequalities for certain classes of analytic functions involving Salagean operator, *Acta Univ. Apulensis Math. Inform.*, 21 (2010), 105-112.
- [20] N. Tuneski and M. Darus, Fekete-Szegö functional for non-Bazilovic functions, *Acta Math. Acad. Paedagog. Nyhazi. (N.S.)* 18(2) (2002), 63-65.